     Jméno a Příjmení:

Třída

Převody  jednotek
                    
6.ročník


Převeď na dané jednotky:
Délka

12 cm = 120 mm

Délka







12 cm = 
   mm 

72 cm = 
   m

4,2 cm = 
   dm


6 mm = 
   m

16 mm = 
   cm

26 mm = 
   dm

14 dm = 
   cm

54 dm = 
   m

1,4 dm = 
   mm

1,2 cm = 
   mm 

72 cm = 
   dm

42 cm = 
   cm


60 mm = 
   cm

16 mm = 
   m

26 mm = 
   dm

0,14 dm = 
   mm

54 dm = 
   cm

4,4 dm = 
   mm

120 cm = 
   dm 

72 cm= 
   mm

120 cm = 
   m


0,6 mm = 
   m

16 mm = 
   dm

2,6 mm = 
   cm

140 dm = 
   m

54 dm= 
   mm

44 dm = 
   cm

0,12 m = 
   dm 

72 m = 
   km

1,2 m = 
   cm


52 cm = 
   mm 

3,2 cm = 
   m

132 cm = 
   dm


63 mm = 
   m

6,1 mm = 
   cm

86 mm = 
   dm

14 dm = 
   cm

140 dm = 
   m

14 dm = 
   mm

5,2 cm = 
   mm 

320 cm = 
   dm

312 cm = 
   km


630 mm = 
   cm

6100 mm = 
   m

86 mm = 
   dm

0,14 dm = 
   mm

0,14 dm = 
   cm

14 dm = 
   m

520 cm = 
   dm 

3,2 cm= 
   mm

321 cm = 
   m


0,63 mm = 
   m

610 mm = 
   dm

86 mm = 
   cm

140 dm = 
   m

0,014 dm= 
   mm

14 dm = 
   cm

5,12 m = 
   dm 

3200 m = 
   km

1,320 m = 
   cm


1,22 cm = 
   mm 

1,52 cm = 
   dm

1,27 cm = 
   m


6 mm = 
   m

126 mm = 
   cm

4,6 mm = 
   dm

1,4 dm = 
   mm

14 dm = 
   cm

140 dm = 
   m

21,2 cm = 
   mm 

215 cm = 
   dm

70,12 cm = 
   m


6,0 mm = 
   cm

612 mm = 
   dm

5600 mm = 
   km

0,14 dm = 
   mm

14 dm = 
   m

0,14 dm = 
   cm

21,20 cm = 
   dm 

512 cm= 
   m

1200 cm = 
   km


0,6 mm = 
   cm

162 mm = 
   dm

660 mm = 
   m

1,40 dm = 
   cm

14 dm= 
   mm

154 dm = 
   m

0,122 m = 
   cm 

125 m = 
   km

12,32 m = 
   dm


Délka








12 m = 
   mm 

72 dm = 
   m

4,2 m = 
   dm


6 cm = 
   m

1,6 mm = 
   cm

260 cm = 
   dm

14 mm = 
   cm

54 cm = 
   m

1,4 cm = 
   mm

1,2 dm = 
   mm 

72 mm = 
   dm

42 dm = 
   cm


60 m = 
   cm

16 cm = 
   m

26 cm = 
   dm

0,14 cm = 
   mm

54 mm = 
   cm

4,4 mm = 
   mm

120 cm = 
   dm 

72 dm= 
   mm

120 dm = 
   m


0,6 km = 
   m

16 cm = 
   dm

26 mm = 
   cm

140 mm = 
   m

54 cm= 
   mm

44 dm = 
   mm

0,12 km = 
   dm 

7,2 m = 
   km

1,2 dm = 
   cm


52 dm = 
   mm 

32 cm = 
   m

132 mm = 
   dm


630 cm = 
   m

6,1 dm = 
   cm

86 cm = 
   dm

14 mm = 
   cm

140 cm = 
   m

1,4 dm = 
   mm

5,2 dm = 
   mm 

320 mm = 
   dm

31,2 m = 
   km


63 mm = 
   cm

6100 cm = 
   m

86 cm = 
   dm

0,14 cm = 
   mm

0,14 m = 
   cm

14 cm = 
   m

52 m = 
   dm 

3,2 dm= 
   mm

321 dm = 
   m


63 mm = 
   m

610 cm = 
   dm

86 dm = 
   cm

140 cm = 
   m

0,014 m= 
   mm

14 m = 
   cm

512 cm = 
   dm 

32 m = 
   km

1,32 dm = 
   cm


1,22 dm = 
   mm 

1,52 m = 
   dm

1,27 dm = 
   m


6 cm = 
   m

126 dm = 
   cm

4,6 cm = 
   dm

1,4 cm = 
   mm

14 mm = 
   cm

140 cm = 
   m

0,2 m = 
   mm 

215 mm = 
   dm

7,2 cm = 
   m


6,0 dm = 
   cm

612 cm = 
   dm

56 m = 
   km

0,14 cm = 
   mm

14 mm = 
   m

0,14 m = 
   cm

1,20 m = 
   dm 

512 mm= 
   m

12000 cm = 
   km


0,6 dm = 
   cm

162 cm = 
   dm

66 mm = 
   m

1,40 m = 
   cm

14 m=  
   mm

15 cm = 
   m

122 mm = 
   cm 

25 m = 
   km

12 mm = 
   dm


2 dm = 
   cm 

3 cm = 
   mm

13 mm = 
   cm


30 cm = 
   mm

6,0 dm = 
   m

8 cm = 
   m

4 mm = 
   dm

14 cm = 
   mm

1 dm = 
   cm

2 dm = 
   cm 

32 mm = 
   cm

31 m = 
   dm


3 mm = 
   dm

610 cm = 
   dm

8 cm = 
   mm

14 cm = 
   mm

0,1 m = 
   km

1 cm = 
   mm

2 m = 
               km 

3 dm= 
  
   m

32 dm = 
   cm


3 mm = 
   cm

61 cm = 
   mm

8 dm = 
   mm

40 cm = 
   dm

0,01 m= 
   cm

1m = 

   km

12 cm = 
   mm 

3 m = 
 
    cm

1,3 dm = 
   m


